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ECO-11: ELEMENTS OF INCOME TAX
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Note : Question No. 1 is compulsory. Attempt any
three questions from the remaining

questions.

1. Following are the particulars of income of Smt.

Vimla for assessment year 2022-23 : 14
(1) Rent received from house
property let out to SBI 1,00,000

(i1)  Royalty from books
(Recommended in university
course) 6,000

P.T.O.



(iii)
@iv)
)

(v1)

(vii)
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Profits from cotton business 20,000
Loss from cotton business 25,000

Loss from speculation

business 30,000
Interest on Bank deposit 20,000
Lottery prize (Net amount) 20,728

(viil) Amount received on maturity

of life insurance policy 40,000

Compute the total income of Smt. Vimla

keeping the following points in mind :

(a)

(b)

(a)

She spent = 13,000 on treatment of a

handicapped dependent.

Donation to P. M. National Defence Fund
" 3,000.

Mr. Shakil is an employee of Axis Ltd. Co.
He receives = 5,00,000 as gratuity as per
the provisions of Payment of Gratuity Act,
1972. He retired on 31st March, 2022 after
rendering services for 27 years and
9 months. At the time of retirement his

monthly salary was = 17,000. He also gets



(b)

(a)

(b)

(a)
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Dearness Allowance of = 1,500 per month
(D. A. is not a part of the salary). Calculate

the taxable gratuity in the hands of Mr.
Shakil for assessment year 2022-23. 8

What do you mean by ‘profit in lieu of

salary’ ? 4

How would you determine the annual
value of house property, which is self-
occupied for a part of the year only and let

out for remaining part ? 8

What are the provisions regarding

unrecognized provident fund in Income Tax

Act, 1961 ? 4
From the following information of Mr. A,
compute the Net annual value of the let
out period of the house for the assessment
year 2022-23 : 6
Municipal value 20,000
Municipal tax paid 4,000

P.T.O.



5.

6.
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House was self-occupied for first six
months and for the remaining six months
it was let out at the rate of * 2,000 p.m.

(b) Discuss the provisions of the Income Tax

Act regarding exemption of capital gains
U/S 54F. 6

What are the different Tax Authorities and
their functions ? Discuss the types of
assessment in detail. 6+6

Write short notes on any two of the following :
6+6

(a) Clubbing of Incomes

(b) Deduction under Section 80C

(¢) Agriculture Income

(d) Pension
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1.

goT g 1 Sard 81 9y g 4 @ et
a7 v F 3w feifEa)

Sadt famen & w-fauRor a9 2022-23 =
frefafea foewo € . 14

)  HHM H TH €. AE. Hl

foh{™l W I8 ¥ I fvi@m 1,00,000

i) gl & e (fovafaee™) 6,000

(i) UG I ¥ T 20,000

P.T.O.



(iv)
)
(v1)
(vii)

(viii)
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HUS! FIIE T I 25,000
G2l HIEE 9 B 30,000
dh S W = 20,000
el 1 M (S ThA) 20,728
Strem s diferdt o giaea

M W W A 40,000

frafafad & 2 5 W@d gu fiwdr fomen &t
el A hi UM HINT -

()

(@)

(%)

IO oue onfyd =afed & ST=R & fau
' 13,000 @H fRu)

ST YUMHAT TS T HIY Dl 3,000
EIRSERERI

ft v Tl fafids ot o 9ara
gl Tegdt wam  etfufrw, 1972 &
ITEAR =M YA & 5,00,000 <
feu I=|H 31 WHE, 2022 & 27 TH
9 AE WAl % YA STl UgU Rl
SIFTT W & THT ITh1 HITGS oA
' 17,000 ol SR 1,500 UfqHE WETE
T O B W T (AT O ddd
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9 & R) 1 S e % A Teged
= U w-FAaRor 99 2022-23 &1 T
HIfST| 8
(@)'dd & a8 N’ U Y A TS © 2 4
. (@) A 7oA Y ¥ | ¥ & fay e
T IS TR B AN VY HHI H WH g

@ & ferw & fau wm fen T 9,
@ e gea &g ferten SEAm 2 8

(@) W-m=a o wfass ffy & a9 o
IR ATTIH, 1961 o 1 G & ?

4

. () fefafea oo 9 St A & w-fruiRo

a8 2022-23 & HaY H HEH b IS

a1tk oI i TUATN HIT

TATfeTshT o 20,000
TRYTIcTehT hT Rl 4,000
Ay % T8 6 HelM H HeM hl
R W= &% ferw & fau v feen 9 o
sEfy § 2,000 ¥faEe fH@ W 33 =
T 6

P.T.O.
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(@) 3T AfUIH &+ U™ 54F & A<7q
afvld Xgad Yot A9 9 grafed e

1 ARAT HifT| 6

5. HA-HAY H ARFET B T 9 IR FA-F
& ? w-fulor & geErR w1 fowr 9

AT TS| 6+6
6. frafafad & o fe=l & w wfax fowford
fafeT 6+6

(%) ST 1 THBT T
(@) oW 80C & 3T=rid sherdt
() = =

(%) UM
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